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Fill in the chart
y=—2[x—1/"+4 y=[x—3]" =3 [x+4"+2
stretch factor
Open up or down
Vertical shift
Honzontal shift
vertex
Equation of the
Axis of symmetry
y-intercept
Max/min value
Factored Form of a Quadratic Relation
2
Make a table of values and then graph the following equation: Y=¥ +0x+8
Label ALL important points.
x y=x"+6x+8 (x.3)
-2 v = {-2)3+6{—2)+E‘. =10 (-2, 0)
-1 v = (—1]3+5{—1)+E =3 (-1, 3)
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\ Fill in the chart
y=—2[x—1/"+4 y=[x—3]" =3 [x+4"+2
H stretch factor J ht" |F R C)\,
Open up or down dqwﬁ
Vertical shift b‘\
N ertical shi / ‘(D. '
— Horizontal shift r' . qm l
vertex ( s "\ }
Equation of the
Axis of symmetry ¥ — f
y-intercept
) Max/min value ﬁ‘ﬂx
Factored Form of a Quadratic Relation
2
Make a table of values and then graph the following equation: Y=¥ +0x+8
Label ALL important points.
X y=x"+6x+8 (x3)
-2 v={-27+6(-2)+8=10 (-2.0)
-1 v={-1)46(-11+8=3 (-1. 3)
0
1
2
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Factored Form of a Quadratic Relation
2
Make a table of values and then graph the following equation: Y% +0x+8
Label ALL important points.
x y=x"+6x+8 (x.3)
-2 v={-27+6(-2)+8=10 (-2, 0)
-1 v={-1)46(-1+8=3 . (-1. 3) )
Y=Y =< [(0,%)
KD ENVA-DE= = [(-3)
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Factored form of a Quadratic Equation is
|
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Factored form of a Quadratic Equation is
——
where 5 and f are the-z'ﬁtg an "A\ _ and a 15 the stretch factor and direction of opening.
Zeros occur when y = 0. 0 O rS
y-intercept occurs when x =0
The vertex (maximum/minimum) can be found by plugging in the x value of the axis of symmetry and solving fory
1. For the following quadratic relation:
i) Determine the zeros {aka the “solution set”)
i) Determine the y-intercept (x = 0)
i) Determine the axis of symmetry
v} Determine the coordinates of the vertex
v) Sketch the graph
y=x'+10x+16
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1. For the following quadratic relation:

)
i)
lii)
v)
v)

[ |
v
&
=
_
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O~
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..

Determine the zeros {aka the “solution set”)
Determine the y-intercept (x = 0)

Determine the axis of symmetry

Determine the coordinates of the vertex
Sketch the graph

[\) y::XD‘L Ox +|
Y= R+ O(=D) +|
\/:E?L% "BO "l‘\d
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Section 5.5 The x-Intercepts of a Quadratic

Relation

1. Find the x-intercepts of each b) L
quadratic relation. BT AR W
a) |venex: (D.e9) |

;\573

3. Find the zeros of each quadratic '
relation.
Dy=-DEt) T /
b)y=3x+)x-3)
&) y=—-2x(x—6)

B y=—(c+Qx—9)
e) v=4(x+ 8)x—2)

b)

2. Find the zeros of each quadratic ) y=6(:—Q)x+6)
relation. 4. Find the zeros by factoring. Check by
a) ]
graphing.
a)v=x*+8x+15
RE" - b)yy=x*-2x—-8
c) v=2x"—18
d)y=3x-12x-36
e) y=—x’+4dx+5
f) v==6x*-24
5. Find the zeros by factoring.
[ Verter: @, 50| a) y=05¢+2x -6
Y| | | by v=15x"—-9x—24
6. Which relation has more than one
x-mntercept? How do vou know?
a) v=-3(x+2)¥+1
by yv=2x+3¥+2
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